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J00000000000000000 import
javax.swing.JOptionPane. public class Hanoi { private static final
String DISK_B ="diskB". private static final String DISK_C =



"diskC". private static final String DISK_A = "diskA". static String
from=DISK_A. static String to=DISK_C. static String mid=DISK_B.
public static void main(String[] args) { String
Input=JOptionPane.showlnputDialog("please input the number of
the disks you want me move."). int num=Integer.parselnt(input).
move(num,from,mid,to). } private static void move(int num, String
from2, String mid2, String to2) { if(num==1){
System.out.printin("move disk 1 from " from2 " to " to2). } else {
move(num-1,from2,t02,mid2). System.out.printin("move disk "
num " from " from2 " to " to2). move(num-1,mid2,from2,t02). } } }
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void permute(String str) { char[] strArray = str.toCharArray().
permute(strArray, 0, strArray.length - 1). } public static void
permute(char[] list, int low, int high) { int i. if (low == high) { String
cout ="". for (1=0. i cout = list[i]. System.out.printin(cout). } else {
for (1=low. i char temp = list[low]. list[low] = list[i]. list[i] = temp.
permute(list, low 1, high). temp = list[low]. list[low] = list[i]. list[i] =
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